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Get a fidget spinner! Spin it. I needed to spin
Find the GCF using the Birthday Cake method.
50 55 45 6| 36 42
9
GCF. 5=5 GCF:
3 24 2 3 8 15 51 60 90
GCF; GCF. GCF
108 96 36 90
GCF:
GCF:
16 26 4 28 64 68
GCF: GCF:
GCF:
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Spin again. I needed to spin time(s) to finish.
Find the GCF using the Birthday Cake method.
S5 240 300 330 6| 30 36 66
2| 48 60 66
3L 24 30 33 CCF:
8 10 1
GCF. 5x2x3=30
2| 1224 18 6 66 30 36
GCF: GCF:
540 5/0 510 84 102 108

GCF: GCF:
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Robert used 9 cups of sand to build his You do an experiment o collect data on
sandcastle. Then he decided he wanted to earthworm behavior. You test the hypothesis
add a wall. He used a total of 13 cups of sand. | |that "If a worm is put into a terrarium, it will
How many cups did he use to add the wall? begin to bury itself within 10 seconds.” After
Write an equation and solve it. analyzing the data, you report that the

probability that a worm will begin to bury
itself within 10 seconds is 0.85. Based on this
information, what is the probability that the
next two worms in a row will "oury within 10
seconds?”

Justin has a headache. He can't stand long lists. "Can you repeat that again?” he asks.
"It's easy. Name a number that is greater than 10, less than 20, is a multiple of 2, and

FINALLY is a factor of 42," replies Jacob.

Find 9% of 77. . Write the ratio as a
Write as a percent. fraction in lowest terms.

2 20 boys to 12 girls
10
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Week of May 23

If the ratio of red flowers to yellow
flowers in the local park is @4 and
there are approximately 700 red or
yellow flowers currently blooming in
the park, about how many of them are
yellow? You may need to round to the
nearest whole number.

The Ramirez family grew a large crop
of sunflowers this year. As they were
collecting the seeds and drying them,
naturally they ate some to see how
they tasted. In all, they opened about
two hundred seeds. Some of them
they could not eat (about 20) because
there was no embryo inside. In four
cases they could not eat the seed
because there was a worm inside.
Assuming these results are typical for
the entire crop, as they eat the seeds
throughout the year, what is the
probability that any particular seed
chosen af random will be edible? State
your answer as a percent rounded to
the nearest tenth of a percent.

Which expression has the largest value
(a) 25 + (-15) + -1, or (b) -25 + (-1) - 157

A circle is randomly painted with small
splotches of three different colors.
One-fifth of the circle is red, two-fifths
of the circle is blue, and the rest is
green. What is the probability that a
randomly thrown dart (thrown by a
blindfolded person who has never
seen the board), that hits the board,
will land on a green area?

Because of sea floor spreading, the
Atlantic Ocean is getting wider at a
rate of about one cm per year. At that
rate of expansion, how much wider will
the Atlantic be af the end of half of a
century?

A scientist counted birds in a cornfield.
He counted sixteen crows, four jays,
and three hawks. What was the ratio
of hawks to crows?
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Week of May 23

There were 1,835
weddings in Springs City
last year. According to
state records, notaries
public performed 15% of
the weddings. How
many weddings were
not performed by
notaries public?

Max just got a job at Lulu's
Café cleaning off tables.
The owner said that Max
could be a server next
summer if he does a good
job. Max makes $6 per hour.
If Max works 5 % hours a
day for four days each
week, how much money will

he maoke each week?

Robert earned an
average of $9.50 each
day mowing lawns. In
February he only
earned $161.30. If he
mowed lawns on 24
days in February, what
is the average amount
he made each day?

Sl J
D
D

)
[ J

Sl J

Finish the line:

Finish the line:

Can you draw ONE line going through ALL the circles? Your line can go left, right,
C) up, or down. It cannot go diagonally. Your line cannot cross over any part of

the line you have adlready drawn.
You MUST TURN in a BLACK circle. Do NOT TURN in a WHITE circle.

The puzzle on the left shows a correct line going through all the circles.
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930 is evenly divisible by 6

Can 990 be evenly divided by 6? Circle:

930 is NOT evenly divisible by 6

1lb =16 oz

291b =

oz

w O
(O NO)

0Ox2=

Circle the addition property
for 63 +182 =182 + 63.

associative property
commutative property

383 + 547 =

@Ne
g N

Holly makes a basket for every two
attempts that she makes. Anna needs four
attempts to make a basket. Each basket is
worth 2 points. If they each make 32
attempts, then what is the score?

2x9=

3x7=

milimeters

How many milimeters are in 9 centimeters?

5x10 =

April rolls a die. What is the
chance of her roling a 1?

word root lent can mean full of

Rewrite these in increasing order of length:

955 mm, 920 km, 648 m

succulent, excellent
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Can 881 be evenly divided by 5? Circle:
881 is NOT evenly divisible by 5 178 + 346 =
881 is evenly divisible by 5
10x 10 =
88+ 1=

The boys in your class each
b6cm = mm were given a ticket with a

number on it. The numbers -
given out were: 24, 35,19, 31,

- N
N O1

15,9, and 17. One ticket will
be picked from a hat. What
JR S A — are the chances that the

winning ficket number is
divisible by 6?

Can 526 be evenly divided by 77 Circle:
526 is evenly divisible by 7 786 + 251 =
526 is NOT evenly divisible by 7

9x3=

Write 2,110,329 in words.
bx7=

7x2= | f@xuy=__ | PF5=
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Be7elHoe70690e2e2e3e69e3exe=00e¢10630?2
- e 8 e =0}l
Use the pieces above to help you fill in the runaway math puzzle.

X 1
X 2 2(4|+|6|=
I 6 X 5 = -
8 = 3(x|5(=|1|5 + 4 2
X 4 5 = 5 8 =
7 Xx|11[=1]9 + =11 7
= 4 5 5
S5|X|6|= 0 4 -
06 2 + 5
4/8|+|8|=|6 =
0 X 5
= 3 O(+]|9]|=
O(x|6(=]|0
36+3= 10=7= 8x9 =

For 9.694,691121929,073, write
718 - 634 = the digit that is in the hundred

thousands place.

word root fug can mean flee fugitive, refugee
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Savannah, Madison, Luis, Jennifer, and Brittany each voted for one person to be president.
How many votes did each person receive and who wil be the president?

1. Savannah has one more vote than Jennifer.

2. Luis has one more vote than Savannah.

3. If Jennifer had one more vote, Jennifer would have the same number of votes as
Madison.

4. Savannah has the same number of votes as Brittany.

5. Brittany has the same number of votes as Madison.

Savannah received vote(s).
Madison received vote(s).
Luis received vote(s).
Jennifer received vote(s).
Brittany received vote(s).

Erin and her little sister, Rose, both have

79 2 b = birthdays on the same day. Erinis ten years old.
' ——————1 Rose is eight years old. Did you know that Erin

was once double the age of Rose? How many

years ago was that?

Ix4 =

Circle the digit in the tenths place.
5+3=

5,299.1647

Write this as a number in standard form.
Use a comma in your number. 383 + 235 =

nine hundred eleven thousand, one
hundred twenty
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'Pay the billl i
HUNTER 1805
Rent is due. Hunter needs
to pay his landlord $1,500. PATE
His landlord's name is PAY 40 THE | $
April Jackson.
DOLLARS
MEMO
1.99222E80611. "*S555L 3" 805
\ J
'Pay the bill )
HUNTER 1806
Hunter received a bill for
his cellphone from Mobile PATE
Unlimited for $60.29. Write PAY 40 THE | $
the check as Hunter would
write it. DOLL-ARS
MEMO
19922 cEB0EN "S555L 3" 806
\ )
" What is the remainder of f ) [10x40=+10 )
42 divided by 13?7 0504 (05+5)) =
\ \
-6l +c =2 (7x63+7-64+8= 1 ( )
Rewrite % as a decimal.
C =
J _J
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If

p
Find the missing numbers. These both have the same rule. What is the rule?

If
4.,100=14
5,4=19
6,17 =23
7,20 =27
Then
8,22=7

N

Complete each pattern. Write what the rule is.

93.6

85.8

/8

70.2

624

H6.8

39

234

15.6
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Pictures K

Each of the pictures needs to kiss. The two pictures that kiss must be the same pictures.

Draw a line that connects one picture to one other picture to kiss. Draw your lines over the trace lines. No

lines may cross. Once you draw a line to a picture, that picture cannot be used again.

One complete line has already been drawn for you.

Name



Where can
I get more of this
great stuff?

More things for
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L("Dr. Programmer” a2+,

: ! X - challenges kids..
Kids want choices — ge

for homework.
“Take It Home” books
have fun graphics and
challenging puzzles and
problems for older kids.
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